TMA H120

FORMELLISTE
Laplacetransformasjonen:
LU(W) = F(s) = [ (B dt
L(sinwt) = ﬁ? L(coswt) = ﬁd;
L(t") = ;f-l—l n=0,1,2,...

L(S(t—a))=e* (a>0)
£(ef(t)) = F(s )

Lf(t—a)u(t —a)) = e F(s), u(t—a)= { (1’ Iffnf i i “ (@20
£ S(ulg(t = u)du) = £(7(2)) - £lg(t) |

L) = s F(s) = 7 [(0) = 72 (0) = - = =1(0)

£(f f(w) du) = SF(s)

L/ (1) = =F'(s) L(;/(1) = [ Flu) du

Fouriertransformasjonen:

+00 +o0
P = fw) = o= [ el e, £ w) = = [ flw)e o
F(f")(z)) = (iw)" f(w) F((—izx)"f(z)) = f™(w)
Fle=f(z)) = f(w - a) F(f(x = a)) = e f(w)
FCF f)g(z - w) du) = VERF() - Flg)

e~ /% a reell og positiv.
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